STATE OF TEXAS COMPTROLLER'S JUDICIARY

QUARTERLY REQUEST FOR COUNTY REIMBURSEMENT OF JUROR PAYMENTS

S.B. 1704, 79th Legislature. Regular Session -

Please	e Circle (Claim (Quarter
1	e Circle (2)	3	4

CO	6.7	OT	Ю	21	1 2	0	110	ı	\sim 1	ч		v
vv	ш		\mathbf{R}	J.	ᇉ	т.	UΟ		VI	V.	۱.,	11

AGV	COBJ	TC	FUND	AY	PCA	APPROVAL.	DOCUMENT NUMBER	DOCUMENT AMOUNT
241	7612	225	0001	06	13039			D

Mr. David Lloyd

Johnson County District Clerk

P O Box 495

Cleburne, TX 76033-0495

Mail completed form to

COMPTROLLER'S JUDICIARY SECTION

P.O. Box 13528

Austin TX 78711-3528

Call 1-800-531-6411 ext 6-5985

or email judiciary@cpa.state.tx.us

JUROR PAYMENT REIMBURSEMENT REQUEST

CALENDAR CLAIM QUARTER	CLAIM DUE BY	CLAIM WILL BE PAID BY	BALANCE FORWARD	AMOUNT REQUESTED	AMOUNT PAID	BALANCE DUE COUNTY
Jan 1 to Mar 31	Apr 20th	May 31st		13,350,00		
FAUL TO BUR SO.	Jul 20th	Aug 31st				
Jul 1 to Sep 30	Oct 20th	Nov 30st				
Oct 1 to Dec 31	Jan 20th	Feb 28th				

Per instructions on reverse side, please attach supporting documentation with this request for payment.

COUNTY CERTIFICATION						
I, Roger Harmon, the authorized official of the Commissioner's Court of						
Johnson County hereby certify that the amounts requested are due and payable pursuant to Section 61.0015(b)						
sign here>>>> Boykaldavara Date 7 12 13						
COUNTY CON	TACT INFORMATION					
Person to contact regarding the information on this form	Contact Email	Contact Phone Number				
Artrie Allen-Jury Administrator	artriea ejohnsoncountyt	larg (817)556-6843				

COMPTROLLER'S JUDICIARY SECTION APPROVAL

I approve this request for payment and to the best of my knowledge this request for payment is true and correct. this payment complies with Section 61.0015 of the Texas Government Code

	Supporting Documentation	
County Name	Quarterly Date Range	Report Total
JOHNSON COUNTY	From 04/01/2013 To 06/30/2013	\$13,350.00

First Date of Service	Juror First / Last Name	Number of Days Served	Total Amount Paid to Juror	Number of Days Paid Extra \$34	Amount Requested from
05/07/2013	LARRY ELLEDGE	10	\$400.00	9	\$270.00
05/06/2013	NATHAN BJORK	4	\$128.00	3	\$90.00
05/07/2013	JIMMY WOODS	10	\$400.00	9	\$270.00
06/18/2013	DEBRA CAMP	4	\$160.00	3	\$90.00
06/18/2013	VICKIE GIBSON	4	\$160.00	3	\$90.00
05/29/2013	JEANNE BURKS	2	\$80.00	1	\$30.00
05/29/2013	ANGELA TAYLOR	4	\$160.00	3	\$90.00
05/07/2013	SHIRLEY ANDREWS	10	\$400.00	9	\$270.00
04/22/2013	JOSEPH OCONNOR	3	\$88.00	2	\$60.00
05/08/2013	RODGER BURNS	2	\$80.00	1	\$30.00
04/30/2013	GRANVIL HILTON	2	\$80.00	1	\$30.00
05/29/2013	GLENDA MICHELIN	4	\$160.00	3	\$90.00
04/03/2013	JANET FORSBERG	2	\$80.00	1	\$30.00
05/06/2013	ROBIN BRUNKEN	4	\$128.00	3	\$90.00
06/03/2013	STACY SEIBER	4	\$128.00	3	\$90.00
04/30/2013	CHRIS ELLIOTT	2	\$80.00	1	\$30.00
06/04/2013	DENISE CROSS	3	\$120.00	2	\$60.00
04/22/2013	TINA MULHOLLAND	3	\$88.00	2	\$60.00
04/02/2013	KRISTEN BRINK	4	\$160.00	3	\$90.00
05/08/2013	JON GRINDSTAFF	2	\$80.00	1	\$30.00
04/02/2013	ASHLEY DAMRON	4	\$160.00	3	\$90.00
06/04/2013	NANCY HARRIS	3	\$120.00	2	\$60.00
06/18/2013	CARL HALLMARK	4	\$160.00	3	\$90.00
04/30/2013	RAUL SANCHEZ	2	\$80.00	1	\$30.00
06/04/2013	TROY BREWER	3	\$120.00	2	\$60.00
06/04/2013	LISA ARD	3	\$120.00	2	\$60.00
04/22/2013	MILDRED MORRIS	3	\$88.00	2	\$60.00
04/08/2013	KIMBERLY YARWOOD	6	\$208.00	5	\$150.00
04/22/2013	ALLEN WILLIS	3	\$88.00	2	\$60.00
		Audited	/ Judiciary		Page Total :\$2,550.00

	Supporting Documentation	
County Name	Quarterly Date Range	Report Total
JOHNSON COUNTY	From 04/01/2013 To 06/30/2013	\$13,350.00

First Date of Service	Juror First / Last Name	Number of Days Served	Total Amount Paid to Juror	Number of Days Paid Extra \$34	Amount Requested from
05/06/2013	KELLEY HISER	4	\$128.00	3	\$90.00
04/22/2013	JACK WEST	3	\$88.00	2	\$60.00
06/04/2013	CONNIE CHILDRESS	3	\$120.00	2	\$60.00
05/07/2013	LINDA MASTERS	10	\$400.00	9	\$270.00
06/03/2013	JODEL PHILLIPS	4	\$128.00	3	\$90.00
04/30/2013	ROBERT IBARRA	2	\$80.00	1	\$30.00
05/07/2013	TOBY ROLLINS	10	\$400.00	9	\$270.00
05/29/2013	PAULA OWNBEY	4	\$160.00	3 .	\$90.00
04/02/2013	GARY GRANT	4	\$160.00	3	\$90.00
04/08/2013	BARBARA SESSOM	6	\$208.00	5	\$150.00
04/30/2013	JOHN CARROLL	2	\$80.00	1	\$30.00
05/29/2013	GLENDA FRINK	4	\$160.00	3	\$90.00
04/03/2013	MICHAEL MARTIN	2	\$80.00	1	\$30.00
06/18/2013	JO BRADSHAW	4	\$160.00	3	\$90.00
04/08/2013	SANDRA KING	6	\$208.00	5	\$150.00
04/02/2013	KENNETH JOHNSTON	4	\$160.00	3	\$90.00
05/06/2013	JODY STOCKTON	4	\$128.00	3	\$90.00
05/29/2013	RICHARD PARKER	2	\$80.00	1	\$30.00
06/03/2013	PAULA SIMON	4	\$128.00	3	\$90.00
04/02/2013	DONNA SOUTHERLAND	4	\$160.00	3	\$90.00
05/07/2013	ASHLEIGH MILLER	10	\$400.00	9	\$270.00
06/18/2013	CECIL STOWE	4	\$160.00	3	\$90.00
06/03/2013	AUDRA TIDWELL	4	\$128.00	3	\$90.00
05/06/2013	JOHNNY PRICE	4	\$128.00	3	\$90.00
05/06/2013	LINDA MUNFORD	4	\$128.00	3	\$90.00
05/06/2013	TERESA BRYANT	4	\$128.00	3	\$90.00
06/04/2013	JENNIFER OLIVAN	3	\$120.00	2	\$60.00
05/29/2013	KIMBERLY TRIBBLE	4	\$160.00	3	\$90.00
06/03/2013	DONALD SPEARS	4	\$128.00	3	\$90.00
		Audited	/ Judiciary		Page Total :\$2,940.00

	Supporting Documentation	
County Name	Quarterly Date Range	Report Total
JOHNSON COUNTY	From 04/01/2013 To 06/30/2013	\$13,350.00

First Date of Service	Juror First / Last Name	Number of Days Served	Total Amount Paid to Juror	Number of Days Paid Extra \$34	Amount Requested from
05/08/2013	CORBIN GLENN	2	\$80.00	1	\$30.00
06/04/2013	MARK IRVIN	3	\$120.00	2	\$60.00
04/30/2013	DAVID LUCKETT	2	\$80.00	1	\$30.00
05/29/2013	TERRY CHUMBLEY	4	\$160.00	3	\$90.00
06/18/2013	JOY HAMBRIGHT	4	\$160.00	3	\$90.00
04/08/2013	SHERRY CATE	6	\$208.00	5	\$150.00
04/22/2013	CARL STIPE	3	\$88.00	2	\$60.00
04/30/2013	ROSE GALBREATH	2	\$80.00	1	\$30.00
04/30/2013	STEPHEN KIFER	2	\$80.00	1	\$30.00
04/30/2013	SHEILA ANDERSON	2	\$80.00	1	\$30.00
04/02/2013	ROSETTA DOUTHITT	4	\$160.00	3	\$90.00
06/03/2013	DANIELLE BRANNAM	4	\$128.00	3	\$90.00
05/06/2013	RANDY RANDALL	4	\$128.00	3	\$90.00
04/03/2013	STEPHEN LAMBERT	2	\$80.00	1	\$30.00
06/04/2013	JESSICA BROWN	3	\$120.00	2	\$60.00
04/03/2013	CRYSTAL GREENWOOD	2	\$80.00	1	\$30.00
05/07/2013	TIFFANY BACON	10	\$400.00	9	\$270.00
06/18/2013	SHERRY DICKENS	4	\$160.00	3	\$90.00
05/29/2013	LINDA WILLIAMS	4	\$160.00	3	\$90.00
04/30/2013	MITZY MILLS	2	\$80.00	1	\$30.00
04/02/2013	GEORGIA RIPPIN	4	\$160.00	3	\$90.00
06/03/2013	SHERRI DOBRY	4	\$128.00	3	\$90.00
06/03/2013	JAMIE NEAL	4	\$128.00	3	\$90.00
05/06/2013	DAVID WILLIAMS	4	\$128.00	3	\$90.00
04/02/2013	ALBERT CABRERA	4	\$160.00	3	\$90.00
04/22/2013	ROSE WILLIAMS	3	\$88.00	2	\$60.00
06/03/2013	ROGER LONG	4	\$128.00	3	\$90.00
04/02/2013	JUSTIN HINES	4	\$160.00	3	\$90.00
06/03/2013	RICKY ALEXANDER	4	\$128.00	3	\$90.00
		Audited	/ Judiciary		Page Total :\$2,250.00

	Supporting Documentation	
County Name	Quarterly Date Range	Report Total
JOHNSON COUNTY	From 04/01/2013 To 06/30/2013	\$13,350.00

First Date of Service	Juror First / Last Name	Number of Days Served	Total Amount Paid to Juror	Number of Days Paid Extra \$34	Amount Requested from
04/08/2013	TROY DELAUNE	6	\$208.00	5	\$150.00
04/08/2013	RACHEL GARCIA	6	\$208.00	5	\$150.00
05/29/2013	PATRICIA MAKI	4	\$160.00	3	\$90.00
05/29/2013	ROBERT MARTINDALE	4	\$160.00	3	\$90.00
04/02/2013	CARL MCMASTER	4	\$160.00	3	\$90.00
06/04/2013	LORIE GIBBONS	3	\$120.00	2	\$60.00
04/03/2013	ANGELA KING	2	\$80.00	1	\$30.00
06/04/2013	DARLA SMITH	3	\$120.00	2	\$60.00
04/22/2013	MYRA SHIPSKEY	3	\$88.00	2	\$60.00
04/22/2013	CHARLES BULLARD	3	\$88.00	2	\$60.00
06/04/2013	DALANE DOMINGUEZ	3	\$120.00	2	\$60.00
05/07/2013	SHARON BATES	10	\$400.00	9	\$270.00
05/29/2013	JASON DUNCAN	4	\$160.00	3	\$90.00
06/03/2013	AMY BROOKSHIRE	4	\$128.00	3	\$90.00
04/22/2013	CHARLES BEANS	3	\$88.00	2	\$60.00
05/29/2013	JERRY HINKLE	2	\$80.00	1	\$30.00
04/30/2013	LELAND BRILL	2	\$80.00	1	\$30.00
05/06/2013	SANDRA MATTHEW	4	\$128.00	3	\$90.00
04/22/2013	MILDRED FRANKLIN	3	\$88.00	2	\$60.00
06/18/2013	D'ANNA HAMILTON	4	\$160.00	3	\$90.00
05/06/2013	KRISTIN HART	4	\$128.00	3	\$90.00
06/04/2013	BRENDA HARDIN	3	\$120.00	2	\$60.00
05/07/2013	DUANE WEBBER	10	\$400.00	9	\$270.00
04/08/2013	ALLEN WEBER	6	\$208.00	5	\$150.00
04/08/2013	MARY HARTY	6	\$208.00	5	\$150.00
05/07/2013	DANIEL MCLELAND	10	\$400.00	9	\$270.00
05/08/2013	MARION MCLEAN	2	\$80.00	1	\$30.00
05/29/2013	KATIE GRAY	2	\$80.00	1	\$30.00
05/07/2013	CARY STRICKLAND	10	\$400.00	9	\$270.00
		Audited	/ Judiciary	Page Total :\$3,030.00	

	Supporting Documentation	supporting Documentation		
County Name	Quarterly Date Range	Report Total		
JOHNSON COUNTY	From 04/01/2013 To 06/30/2013	\$13,350.00		

First Date of Service	Juror First / Last Name	Number of Days Served	Total Amount Paid to Juror	Number of Days Paid Extra \$34	Amount Requested from
04/22/2013	MARCUS GREGG	3	\$88.00	2	\$60.00
04/03/2013	SHELIA MORTON	2	\$80.00	1	\$30.00
04/08/2013	STEVEN FIKES	6	\$208.00	5	\$150.00
05/06/2013	WILLIAM MCCRAW	4	\$128.00	3	\$90.00
06/18/2013	JOY SULLIVAN	4	\$160.00	3	\$90.00
06/03/2013	JIMMIE MCMURRAY	4	\$128.00	3	\$90.00
05/29/2013	GARY JENKINS	2	\$80.00	1	\$30.00
04/08/2013	CRISTY BURGAMY	6	\$208.00	5	\$150.00
06/18/2013	GARY SMITH	4	\$160.00	3	\$90.00
05/29/2013	RACHEL WEBSTER	4	\$160.00	3	\$90.00
06/18/2013	ABIGAIL CORDOVA	4	\$160.00	3	\$90.00
05/08/2013	SHEILA WILSON	2	\$80.00	1	\$30.00
05/08/2013	ALAN COLEMAN	2	\$80.00	1	\$30.00
05/29/2013	ALBERT DENNIS	4	\$160.00	3	\$90.00
04/02/2013	MEGAN BEDDINGFIELD	4	\$160.00	3	\$90.00
05/07/2013	DEBORAH STANTON	10	\$400.00	9	\$270.00
04/02/2013	STEPHANIE SANDERS	4	\$160.00	3	\$90.00
04/08/2013	KERRIE DEBERRY	6	\$208.00	5	\$150.00
04/08/2013	PATRICIA KANE	6	\$208.00	5	\$150.00
04/30/2013	HOLLIE RANDGAARD	2	\$80.00	1	\$30.00
06/18/2013	TALIN PEPPER	4	\$160.00	3	\$90.00
05/29/2013	STEVEN BRAIN	2	\$80.00	1	\$30.00
04/12/2013	DANNY GREEN	2	\$40.00	1	\$30.00
04/12/2013	FRANCES HAFFORD	3	\$120.00	2	\$60.00
04/12/2013	MOLLIE MIMS	3	\$120.00	2	\$60.00
05/23/2013	JOE BOYD	2	\$80.00	1	\$30.00
04/12/2013	NANCY HOLLAND	3	\$120.00	2	\$60.00
04/12/2013	RICKEY OWEN	3	\$120.00	2	\$60.00
04/12/2013	TERRIE GOODLOE	3	\$120.00	2	\$60.00
		Audited	/ Judiciary		Page Total :\$2,370.00

	Supporting Documentation	
County Name	Quarterly Date Range	Report Total
JOHNSON COUNTY	From 04/01/2013 To 06/30/2013	\$13,350.00

First Date of Service	Juror First / Last Name	Number of Days Served	Total Amount Paid to Juror	Number of Days Paid Extra \$34	Amount Requested from
05/23/2013	LATRESE HAMM	2	\$80.00	1	\$30.00
04/12/2013	PATTY OWENS	3	\$120.00	2	\$60.00
04/12/2013	TONY MARTINEZ	3	\$120.00	2	\$60.00
05/23/2013	JOE HOLLARN	2	\$80.00	1	\$30.00
04/12/2013	JASON CECH	2	\$80.00	1	\$30.00
				Overall Total :	\$13,350.00